(7 pages)
NOVEMBER 2017 62423/CDZ3A/

CDC3A/MBT3A

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
1.  State the meaning of individual series.
saflsQsn@H eramugen QUmTHET saps.
2.  Give the meaning of tabulatjon.
DL L euameTULRSSED eTemLIgem @U®eT &(ms.
3.  What do you understand by Median?
Qer Hevev eremuigl LpBl Balli ibleug) wimg?
4. Uombm.Ummvﬁ.mwob.
SlsHed BieTaneuseT cuamTLI).

5.  Find range and co-efficient range."
3, 7, 21, 24, 37, 40 and 45
ei&s wHmIb 65FaE0 &1 SnamTs.
13,7, 21, 24, 37, 40 wpmyd 45

6. = What is meant by Histogram?

uFeue) QEeieusmIGeT eTengaT QUIm(meT erame?

T Bwm\Gy - Busines

Epsramid  sroyseldlBig sl (s sgrafluenend
sEEE (). - -

@ IQueTEeT : . 4 8 12 16 20
wravelTsater eravrenfldens : 6 12 18 15 9

15. The details regarding the sales. of goods in
factories situated in Bombay city are given below :
Sales : i 100 200 300 400 500 600
No. of factories : 2 8 11 10 6 5

Calculate the mean deviation and its co-efficient.
@perL BEgsHler o ater Qgmpinereneoudien ellpHLameT .
QaIILIE L §78(E FOLIBSLONET S&HEIOSET LSleeu(HLomm) :
Spuenan : 100 200 300 400 500 600
Qsmfpsrame eamafiéons: 2 8 11 10 6 5
grrefl  efwssd wOMD g  Gapelanarud
sasS (s, i

16. Ten students got the following marks in

mathematics and accountancy :
Marks in Maths : 78 36 98 25 75 82 90 62 65 39

Marks in A/c : 84 51 91 60 68 62 86 58 53 47

Calculate the rank correlation coefficient and
interpret the result.
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7. Define Standard deviation.
S eflevgsid cuammum..

8.  What are the merits of rank correlation?
sufleng et (Hmelen .G@as.b.mew wimg)?

9. Define the term Regression.
QAsrity Gurée eramn LgSHlenan euanTIIm).

10. What is an Index number?
HOI B eTeRTSET GTETMITE) CTEINET?

11. Whatdo you mean by price index?
alenav @GN eremget Gl mweT wing)?

12. Define Timé moimm.

sreLd &1 QHTLIT euflens cueniwm.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

13. What are the rules for constructing diagrams?

aeTEsL UL RISET eueneusHaTer 6l laer wreneu?

14. Calculate’ Arithmetic. Mean from the following

data : \
Marks : 4 8 12 16 20
No, of students: 6 12 18 15 9
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w&ﬁrtﬁ.,

USgl 5:9.&9.593 sl WOHMD sarsE udeslweien
GemaupLomy wEGlLemaer GLhyerarart.
saflg vHLQuaTseT : 78 36 98 25 75 82 90 62 65 39

g o ‘ .

Sap e 84 51 91 60 68 62 86 58 53 47

wHLCuaTEeT : . .
sreuflens @l Oneyds  Gawelaand  iger
apigeflenan b samss(Hs.

17. What are the uses of Regression Analysis?

Qgmiyls CunéE < iefer Lenaer wrg?

18. Apply the method of semi averages detérmining
trend of the following data and estimate the value
of 1998.

Years : 1992 1993 1994 1995 1996 1997

Production‘000’: = 10 " 12 11 15 14 16°
\Qlereu(mHLD .WQQQQ%%@H@ 19986  yaigen
vébean pHCeirsens grmadl wevpulier Cursdleanet
Emrend Q&ws.

GU(HLIEIGET 1992 1993 1994 1995 1996 1997

o pusd (edrgde): 10 12 11 15 14 16

19. Explain the characteristics of Indéx numbers.

BSOSO arawrseflen LaTLsmer 69 aTdEs.
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20.

21.-

Marks :
‘No. of m.ncmob.g 4 18

SECTION C — (3 x 10 = 30 marks)
?m?ﬁ. any THREE pzmmaobm.

HNENE erm various Emﬁvo&m of oozmoﬂsm primary
data.

‘psofloer yeraf 959.5,299 @mm_mm@._b ueGeum

e paamar elleréEs.

O&m&wﬁm co-efficient. of quartile deviation and
co-efficient 6f variation from the following data :
" 0-10 10- .o..o 20-30 wo 40 40-50

48. 68 . .78

- Qereu(mid Yerefl efluprisemend Qsmam@ sréw wEs
Gaeileanyyd . BHHID - Eq@tﬂl@ @9@%§3f5
a&aa%@m .

S%D@Eaaaa. 0-10 Ho.,mo.mo-wo_.wo-#o. 40-50

WTETeLEeT ramaiEans ; 4 18 48 68 78
- Y

22. Find out the co- mmmﬁma of ooﬁ.o_mﬁob for the

mozosabm data :

Height of father (cm) : 160 162 163 164 165 qu ..Hmm<
H.H&mg of son (cm) : 150 152 148 149 154 Hmo 165
- Spsrapib  Lerad %Eqﬁ&%%@.@@ @F@BE&
Qspeiienans snawrs.
shegiern 2 Wb AQQ._.E 160 Hmm Hmw Hmk Hmm 167 168
weeflen ey (@s18) : 150 152 148 149- 154 160 165
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. eflene @ﬁ?_mr@ _999._@9996&_6@ %:B:@waaﬂs

24,

A@_v @mav@wie e “

(<) umavFélav wpen _
(&) .QE%%-F:&E% WPpomD

Az“v _.99@:3 @omse

Fit a mﬁmwmre _.Em trend by the method of least

squares to the following data. Assuming that the
same rate of change continues, what ioﬂE be the

" predicted earnings for the year 2012,
Year:

2003 2004 2005 2006 2007 2008 2009 2010

Earnings (Rs): 38 40 65 72 69 60 87 95

Geraumd  Letel  efouisaidimps  GpiGsTG
CGursdlemenr @wpps wids wepted OLMEHSSS.
20126 gem@sEiu FL(s Gsrostoma <G

- edlps S Ggm_iélpg erer sigiorand Gz Qsrers.

QU(BLLD :

FLOEAgmes (5.) : 38

2003 2004 2005 2006 2007 2008 mocw 2010
40 65. 72 69 60 87 - 95
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23.

(@

Following are the data related with the- prices ‘and

‘quantity consumed for 2006 and 2007.

- Commodities 2006 2007
Qty Price Qty Price
(kg) @Rs.) (kg) (Rs.)
Rice « 25 10 27 15
Wheat 20 5 22 7
Sugar 22 4 24 6
Tea 15 2 17 5

Construct price index numbers by
* Laspeyre’s method .

®).
(@ Bowley-Doorfish method.
@ = Fisher's method.

Daraipld Lietef eSlLipmiser cflane HMILD Naramauser

Paasche’s method _

2006 wpmib 20071d &ETREES FOUFSUILIL LS.

QU6 2006 2007
Sleme] 6w earey  efare
@.8) (o) @H48) (m®)
<& 25 10 27 15
Cenglenn . 20 5 22 G
ShEEm 22 4 24 6
PR 15 2 17 5
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